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1 TR 28 | HEHE A M1 5(38) RS 40,000 50,000
2 e oH Hetgd = oAl StsM1Z 11(ES) Els 40,000 50,000
3 ME ol =] HMEPHE oAl 232 235-11(235) | 235 50,000 60,000
4 = 29 Hetde oAl A|E3Z 35(8s) s 50,000 60,000
5 SHEF oH HEtd e oAl A|E S22 16(23) as 50,000 80,000
6 WA oH Heted = oA A|H3Z 35-6(25) ElEs 50,000 60,000
7 X ol oH Heted = oAl A|H3Z 35-6(25) ElEs 50,000 60,000
8 S "OkXt oH HEtde of=A| AIEE3Z 13(23) ElEs 45,000 55,000
9 oHS}EE =] ML Ol3=A| AIHE3Z 12-15(8H5) SRS 45,000 50,000
10 AR E o Hete = oAl A|ES2Z 22-1(33) ElEs 45,000 80,000
11 ouMd == HMEILE oAl AB 2 231(ABE) ABE 50,000 60,000
12 Mg oH HEtde of=A| SESM1Z 13(H3) as 40,000 45,000
13 Y2 H 29 Hetde oAl AlEE22 33(3tHa) &5 50,000 60,000
14 oM 24 HEtHE oAl A E S22 36(8H5) &5 40,000 40,000
15 HEolE oH HEtE T of=A| A|H3Z 35-14(3S) BIE= 50,000 70,000
16 LEARESE oH Metds oAl A|IEM6Z 3 (2E) ElEs 100,000 130,000
17 H|L|7| Ot = & Of 5= oH HMete = of=A| A|8A6Z 19 (&8) BIE= 97,000 117,000
18 Ol=QIo|E= ™ 24 Metd e oAl AIEE3Z 30-7 (&8) &5 50,000 60,000
19 O =ofiH| X[ = & =4 Hetde oAl A|IHM6Z 5 (&) BIE= 60,000 70,000
20 gdoteazsd =4 Metg e oAl A|8M6Z 11 (&& &5 60,000 80,000
21 AMORT = &l =R HMetd e oAl AlEM6Z 23 (3H5) a3 70,000| 100,000
22 Ofelb| o] = & oH HEtd e oAl AIEM6Z 15 (8) Elgs 70,000 110,000
23 HoteASH o HEtd e oAl AIEM6Z 15 (8) Elgs 60,000 70,000
24 ot Y = HEtd e oAl AIEMEZ 13(23) Elgs 60,000 70,000
25 H| QH B X| 2t = & oH Hetgd = oAl A|EM6Z 25(8H3) Elgs 77,000 120,000
26 S HtheZ 24 oH Hetd e oAl A|ES 32 30-5(23) Elgs 50,000 60,000
27 MK & o HEtd e =AAHM5Z 16(5S) Elgs 50,000 70,000
28 Al AE| oH HEtgdz Of=A| A|EE 32 30-2(%5) Elgs 50,000 60,000




EY oH Hetg = oAl A|HES3Z 30-3(¢3) Elgs 50,000 60,000
OfME D |WEtEE oAl AEM5Z 26 () Els 40,000 50,000
Zetotz E DE |WEtEE oA AIEM1ZE 56(2S) Els 40,000 50,000
oH=d D |NEtEE oA AES2Z 30(2S) as 50,000 60,000
StAH|ZtA D E 29 Metde oA 3232 3(BRS) R 50,000 60,000
Rl 29 Metg e oA S22 48-7(3F8) R 35,000 50,000
MEE 29 Hetde oA 324 538 8) R 50,000 60,000
Ay me 29 Metde oA 322 8(B5+S) RS 30,000 40,000
SZHEf R} & oH Hetgd = oAl F21Z 36(FF3) d2E 40,000 50,000
Oqjigj “ sE | Matgk oA YR 209455) H4%s 70,000 100,000
o
o2 23X oH Hetde of=A| 2&ta|Z 99(H53) H5s 100,000 140,000
S HA Metde oA BAE 33(EHES) H5s 80,000| 150,000
O =il A E =4 Metg e oA L2 4085 S) H5s 50,000 100,000
Of2|ot= A oH Hetde oA BAE 185(H5S) H5s 190,000 | 210,000
HiCH 2 & 29 Metge oAl BY2 213(H55) HE5s 30,000 30,000
SE0asH 29 HMEtd e oA LEL R 75(3:H5) +=8E 50,000 70,000
HSEH& = oH MY E oA REEZ 743 E) +=8E 60,000| 120,000
DR ADHE o Mt E oAl 2BEZ2 61-14(HE) | +ES 60,000 90,000
Yo oH Metde oA LEEE 61-6(H &) +=8E 40,000 60,000
2[H|2t= & oH HEtE e oAl ASMSHE2Z 13(2%3) Bl 40,000 40,000
SHZE oH HEtEe oAl ASMIHU2Z 15(%3) BIE= 35,000 40,000
SHETT od HEtgE oAl ASHSHU3E 8(&S) BIE= 40,000 60,000
SHY oH HEtE e oAl ASMIHU2Z 19(33) BIE= 60,000 90,000
GIES=E- 24 Hetde oAl ASHSH1Z 8(&S) BIE= 50,000 60,000
AP o o HMEt"dE oAl B2 2 32-8(85) BIE= 40,000 50,000
za(Ah 2 & =4 Hetde oA ASHISH3Z 6(2S) EIE= 40,000 70,000
ing= ™ Z2E  |NEtHE oAl ARMSRZE 2(%S) EIE= 40,000 70,000
DA EteAH O] 28 |EtFE oAl atE2Z 30(3H3) EIE= 50,000 70,000
ZEp AR E Y |MEtEE oAl ARMSR1ZE 26(33) EIE= 40,000 40,000
Yo S |MEEE OjfA| SHE2Z 15(8HE) &5 40,000 50,000
oagg 2 |HEHE oAl SHEM1Z 16-6(2H5) &5 40,000 50,000
Hend 2E  |EtHE oAl ARMSRE 14-1(2S) EIES 25,000 25,000




61 BE=H DE |WEtEE oA SHE22 23(%E) Elgs 40,000 50,000
62 ZtERHE ZH (M2t E oAl ASMI U 24(E8S) &E | H
63 6&9 2 oH Hetgd = oA J4B3Z 21-10(2HS) oIS 50,000 60,000
64 Lz =] Hetd e oAl G432 21-6(2HE ) otEs 50,000 60,000
65 AMand 29 Hetde oAl g3 21-3(3HES) s 40,000 50,000
66 2| A 29 Hetde oA Qa3 24-7(3HS) IYE 35,000 35,000
67 =y =] Hetd e oAl JA3Z 243t S) e s 50,000 60,000
68 orz|zd 29 Hetde oAl Qa3 21-4(3HES) IYE 50,000 60,000
69 MO ol et 29 Hetde oAl G432 24-8(3HS) s 50,000 60,000
70 OHEFOIH oH HMetgd = oAl J43Z 21-53ES) oS 50,000 60,000
71 oAz & oH HMetgd = oAl 2M6Z 43-4(MAST) HAS 50,000 60,000
72 Ziet= g oH Metde oAl 2462 42-4(MAS) MRAS 40,000 50,000
73 MERH 24 Metg e oA FM62 42-3(HE5) MEAE 50,000 50,000
74 EE oH Hetde oAl Qa2 8-4(2HEE) EIPSE S 45,000 50,000
75 CHORR QI od Hetde of=A| QA3 21-17(2ES) oS 50,000 60,000
76 YArECQZH od Hetde oAl G432 21-11(&ES) oS 60,000 80,000
77 O=KROns ™ oH HMEtE T oA G432 21-15(3HEHS) IS e 60,000 80,000
78 A 2| KA 2 EH oH HMEldE ol$A| O 2R3 69(RB+S8) | 256 40,000 55,000
79 Aoy Lt = HEtHE oAl 242106, 65,75(E45) | 245 70,000 80,000
80 ZAZEDH 24 Metg e oAl JM1E2 95-9(0M & HME 40,000 40,000
81 YoHHH =L ASH) T E MEtg e O=A| 242 58(8FS) e 70,000 90,000
82 AS2f ol od Metd e oAl o212 39-14(0A8) oM E 45,000[ 100,000
83 Sto| R ol &l 24 Metg e oAl 2222 84(2+S) e 50,000 60,000
84 Ja|ActoE e MEtH L oi5=A| 0212 43-17(0AS) | OMSZ 40,000 50,000
85 M2 & L= MEIHE OjA| OI2 R 76-1(B35) | 258 50,000 60,000
86 1HIt= od HMete = o=A| 0212 43-21(0MS) CRES 50,000 70,000
87 CIj=R=] zH HMete = o=A| 0212 43-13(0MS) =TS 50,000 60,000
88 IREsH 24 22312 69(0 A E) OIME 40,000 60,000
89 G H od o212 43-7(01M3) AME 40,000 55,000
90 KIZE el [MEtdE oA o223 33(23) | 2T 50,000 60,000
91 252 & 29 |d2tEE oA o223 65(2F8) | 255 50,000 60,000
92 A=a3 DE [MetdE oAl OfM12 95-8(A M) AMS 40,000 50,000
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126 HAEMHM HAM HMEtg e oA A=A E 2(5%ts) =3tE 90,000 140,000
127 X EEHM HAM HEtd e oAl AR E 1(B2E) S3tE 96,000 150,000
128 o= &0 153 HM HEPHE oAl Ol AMBAE 202 35(B3E) | B35 80,000 100,000
129 crojor= & D" |MEtEE oA REFE1E 6-3(1LS) me= 40,000 50,000
130 2710 2 B oH HEtde oAl BEH1Z 5-5(UF) me= 50,000 80,000
131 W7t 28 M HM O |WEtEE oA S EZ 66(F2E) S3tE 95,000 155,000
132 orREzH oH HMetgd = oAl s H1Z 6-1(1S) me= 40,000 50,000
133 DE-E| oH Mgz oAl BSE1Z 6-12(25) me= 40,000 80,000
134  |HEUHAESRA| Aasstes | MEtHE oA O|=MNEHE 191(BE) | B3a 15,000 18,000
135 ZETHEL =1=1 MEtgdE oA O|= AT R 135(B3s) | Bta 95,000 140,000
136 LAAESRA | Azssies | HEHE OffA| ZEE 2-2(53YE) LE 25,000 25,000
137 g OHEhHECHE A HM  (MEtEdE oAl O|&ABHE 159 (BYS)| TYS 108,000 195,000
138 |HICIHOAHAAESRAHAESIRA|MEIHE Al SEE 18(1AS) NENE 20,000 22,000
139 ez D |NEtEE oA SYE 72-21(5ES) LE 40,000 80,000
140 s E2Y (A2ESe2|MEtHE oAl BESH1Z 5-4(13) me= 15,000 20,000
141 2gnd 2 |HEtEE oAl B4 52(RUS) REUS 50,000 50,000
142 T2 DEl (MetEE of=A| 224 53(ES RS 50,000 65,000
143 SFHo|z 2 |NEtHE oAl RE4L 55ES QS 50,000 60,000
144 FotmH D |NEtEE oA 242 548 S) QEE 40,000 50,000
145 AlEHZE o MEtg e oAl 2242 59(2EST) EUS 50,000 65,000
146 olstA= o Metge oAl 2242 61(2EUS) REUS 60,000 70,000
147 OhE[ 2 & 24 Metde of=A| 2222 12-6(2ES) QEE 40,000 50,000
148 gHo3a 24 HEtHE oA QE2Z 12-42EF) RS 60,000 70,000
149 Oj=RolH D NEtEE oA 22 12(2ES) QEE 40,000 50,000
150 ga=g D |NEtEE oA 242 48(2ES) =R 40,000 50,000
151 ERADH od Fetad = oAl 2532 121(=49S) =HE 40,000 50,000
152 cazd od Fetad = oAl 2532 141(=49S) =HE 40,000 50,000
153 Bl o od Hetde of=A| 2532 6-1(EHS) =HE 40,000 50,000




